Department of Electrical Engineering Final – Term Assignment Spring 2020

Date: 24/06/2020

Course Details

Course Title:	Numerical Analysis	Module:	
Instructor:		Total Marks:	50

Student Details

Name:	JUNAID UR REHMAN	Student ID:	11484
-------	------------------	-------------	-------

Q1.	(a)	Find the root of the equation given below by Bisection method, accuracy must be up to three decimal	Marks 10		
		places	CLO 1		
		$x^3 - x^2 + x - 7 = 0$			
Q2.	(a)	Use Regula-Falsi method to compute the root of the following equation in the interval [0, 1] after third	Marks 07		
		iteration.	CLO 1		
		$f(x) = \cos x - xe^x$			
	(b)	Use Regula-Falsi (method of false position) to solve the following equation, accuracy must be up to four	Marks 07		
		decimal places.	CLO 2		
		$x^3 - 4x - 9 = 0$			
Q3.	(a)	Find the real root of the following equation using Newton-Raphson method in the interval [2,3] after	Marks 08		
		third iteration.	CLO 2		
		$x^3 - 3x - 5 = 0$			
	(b)	Solve the following equation by using Muller's method, only perform three iterations. ($x_0 = 0.5, x_1 = 1$			
		$1, x_2 = 0)$	CLO 2		
		$x^3 - 7x^2 + 14x - 6$			
04	(a)	Using Gaussian Elimination mathed, solve the following system of equations	Morte 10		
Q4.	(a)	Using Gaussian Emmination method, solve the following system of equations $2\pi - 2 = -2$	Marks 10		
		2x - y + 2z = 2	CLU I		
		x + 10y - 3z = 5			
		x - y - z = 3			

(1) NAME # Junaid - UI Rehman 10 # 11484 O1 Ans # SOL# $\int -(x) = \chi^3 - \chi^2 + \chi - 7 = 0$ STEP1+ Assume limite $f(1) = (1)^3 - (1)^2 + (1) - 7 = 0$ = 1- X+r=7 =[-6] $F(2) = (2)^3 - (2)^2 + (2) - 7$ = 8 - 4 + 2 - 7 = [-1] $f(3) = (3)^3 - (3)^2 + 3 - 7$ = 27 -9 +3-7 17(2) = 1147 $\begin{bmatrix} 2.3 \end{bmatrix} = F(2) \times F(3) = (-1)(14) = -1460 \\ (-2+3) = \frac{1}{2} = \frac{1}{2} = \frac{1}{2} = \frac{1}{2}$

$$\begin{bmatrix} 576P \text{ Mag} \\ \hline m \text{id } po \text{ id } H \\ \hline C = \frac{2+3}{2} = \frac{5}{2} = \frac{1}{2} \boxed{2} \\ \hline F (2-5) = (2-5)^3 - (2-5)^3 + 25 - 7 \\ -C[4], & & \\ \hline F(2) \times (-5,5) = (-1) \times (4+87t) = -4+8752.0 \\ \hline F(2) \times (-5,5) = (-1) \times (4+87t) = -4+8752.0 \\ \hline F(2) \times (-5,5) = (-1) \times (4+87t) = -4+8752.0 \\ \hline F(2) \times (-5,5) = (-1) \times (-4+87t) = (-1+578t) = (-1+578t)$$

$$= 0.9999 + 0.3259$$

$$= 13358$$

$$= 13358$$

$$= 13358$$

$$= 1.3358$$

$$= 1.56320$$

$$= 1.56320$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5888$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5788$$

$$= 1.5888$$

$$= 1.5888$$

$$= 1.5888$$

$$= 1.5888$$

$$= 1.5888$$

$$= 1.5888$$

$$=$$

$$J_{consid} CR Remain Job 11484 (5)
f(N) = R^{3} - (N - 9)
f(0) = (0)^{3} - (N - 9)
f(0) = (1)^{3} - (N) - 9.
= -9
f(0) = (1)^{3} - (N) - 9.
= -1 - 4 - 9.
= -12.
f(2) = (2)^{3} - (4(2) - 9.
= 8 - 9 - 9
= -9 (Negative)
f(3) = (3)^{3} - (4(3) - 9.
= 27 - 12 - 9.
= 6 (Positive) Rest blue [2,3]
Root gets blue [2,3]
Pivol approx: $a = 2$ b = 3 p
Using formula:
 $a f(a) - kar b f(b)$
 $X_{1} = \frac{a f(a) - kar b f(b)}{f(b) - f(a)}$
 $= bt b f(b) - f(a)$
 $= bt b f(brot a = 5 ft)$
 $= 2 (12) - 3 f(3) = 2 (-9) - 3(b) = +35 = a = 2 f(1) - 3 f(1) = 2 (-9) - 3(b) = -24 f(1) = -24 f$$$

Junaid us Rehman 11484 (3)

$$f(-2\cdot 4) = (-2\cdot 4)^{3} - 4(-2\cdot 4) - 9.$$

 $= -5\cdot 7L - (-9\cdot 6) - 9.$
 $= \frac{-5\cdot 7L}{2} - \frac{(-9\cdot 6)}{-9} - 9.$
 $f(-2\cdot 4) = -5\cdot 16.$ $f(-3) = 6.$
 $a = (-2\cdot 4) \quad b = 3.$
 $f(-2\cdot 4) = -5\cdot 16.$ $f(-3) = 6.$
 $a = \frac{4}{(a)} - \frac{6}{(b)} + \frac{12}{(b)} - \frac{12$

z = 6.9288Rootlies blue & \$(0.5971, 3)\$ p = -0.5971 b = 3 f(a) = -6.9288 f(b) = 6 = -0.5971 (-6.9288) - 3(6) = 4.1371 - 18 6 - (-6.9288) = 12.9288 = 12.7448

(7)JUNAID-UR Rehman 11484 O3 (a) Ans # $f(x) = x^3 - 3x - 5$ f'(x) = 3x2 - 3 Since voot sies blus [2,3] initial $x_0 = \frac{2+3}{2} = \frac{5}{2} = 2.5$ NRM Frimalle - $\mathcal{K}_{n+1} = \mathcal{K}_{n-1} - \frac{f(\mathcal{K}_{n})}{f'(\mathcal{K}_{n})}$ $\eta_{n+1} = \eta_n - (\frac{\eta_n^3 - 3\eta_n - 5}{3\eta_n^2 - 3})$ $\mathcal{N}_{n+1} = \frac{\mathcal{N}_n (3 \pi_n^2 - 3) - (\pi_n^3 - 3 \pi_n - 5)}{3 \pi_n^2 - 3}$ $\chi_{n+1} = \frac{3\chi_n^3 - 3\chi_n - \chi_n^3 - 3\chi_n - 5}{3\chi_n^2 - 3}$ $n(n+1) = \frac{2n^3 - 6n - 5}{3n^2 - 3}$ <u>Iteration 1</u> No= 2.5. $26+1 = \frac{2(2.5)^3 - 6(2.5) - 5}{3(2.5)^2 - 3} = \frac{31.25 - 15 - 5}{18.75 - 3}$ $z = \frac{11.25}{15.25} = 0.7142$ Iteration 2

JUNAID-UR-REHMANN 11484

$$\chi_{1+1} = \frac{2(\chi_1)^3 - 6\chi_1 - 5}{3\chi_1^2 - 3}$$

$$\chi_{L} = \frac{2(0.7142)^3 - 6(0.7142) - 5}{3(0.7142)^2 - 3}$$

$$\chi_{L} = \frac{0.7286 - 4.2852 - 5}{1.5302 - 3}$$

8

$$N_{2} = \frac{-8.5566}{-1.4697} = -6.0500 + 5.8220$$

Stevation 3

$$\begin{aligned} \frac{1}{3241} &= \frac{2(x_{1})^{2} - 6(x_{2}) - 5}{3x_{1}^{2} - 3} \\ &= \frac{2(5.8220)^{3} - 6(5.8220) - 5}{3(5.8220)^{2} - 3} \\ &= \frac{394.68 - 34.93 - 5}{101.68 - 3} \\ &= \frac{354.67}{93.687} = 3.594 \end{aligned}$$

$$\begin{aligned} Q_{3(6)} \\ f(x) = q^{3} - 7x^{2} + 14x - 6 \\ y_{0} = 0.5 \quad x_{1} = 1 \quad x_{1} = 0 \\ f(x_{0}) = (0.5)^{3} - 7(0.5)^{2} + 14(0.5) - 6 \\ f(0.5) = 0.625 \\ f(x_{0}) = x^{3} - 7x^{2} + 14x^{2} - 6 \\ z = (1)^{3} - 7(1)^{2} + 14x^{2} - 6 \\ z = (1)^{3} - 7(1)^{2} + 14(1) - 6 \\ z = 1 - 7 + 14 - 6 \\ f(1) = 2 \\ f(x_{0}) = x^{3} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{cases}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{2} + 14x - 6 \\ f(x_{0}) = x^{3} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{aligned}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{2} + 14x - 6 \\ f(x_{0}) = x^{3} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{aligned}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{2} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{bmatrix}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{3} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{bmatrix}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{3} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{bmatrix}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{3} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{bmatrix}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{3} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{bmatrix}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{3} - 7x^{2} + 14x - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{bmatrix}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{3} - 7x^{3} - 7x^{2} + 14x^{3} - 6 \\ z = (0)^{3} - 7(0)^{2} + 14(0) - 6 \\ \end{bmatrix}$$

$$\begin{aligned} f(x_{0}) = x^{3} - 7x^{3} - 7x^{3}$$

Now
$$x_{0} = x_{1} = 1$$

 $x_{1} = x_{2} = 0$
 $x_{2} = x_{3} = 1.1$
2nd item¹
 $f(x_{0}) = (x_{0})^{3} = 7(x_{0})^{2} + 14(x_{0}) - 6$
 $= 1 - 7 + 14 - 6 = 27$
 $f(x_{0}) = (x_{0})^{3} - 7(x_{0})^{2} + 14(x_{0}) - 6 = -6$
 $f(x_{1}) = (x_{0})^{3} - 7(x_{0})^{2} + 14(x_{0}) - 6 = -6$
 $f(x_{1}) = (x_{0})^{3} - 7(x_{0})^{2} + 14(x_{0}) - 6 = -6$
 $f(x_{1}) = (x_{0})^{3} - 7(x_{0})^{2} + 14(x_{0}) - 6 = -6$
 $f(x_{1}) = (x_{1})^{3} - 7(x_{0})^{2} + 14(x_{0}) - 6 = -6$
 $f(x_{1}) = x_{1} - x_{0} = -6 - 2 = -8$
 $h_{1} = x_{1} - x_{0} = -6 - 2 = -8$
 $h_{2} = x_{1} - x_{0} = -6 - 2 = -8$
 $h_{2} = x_{1} - x_{0} = -2282 - 6 = 2283$
 $h_{2} = f(x_{1}) - f(x_{0}) = -\frac{2}{-2}(x_{0})^{2} - \frac{2}{-283} - \frac$

$$f(x_{0}) = (0)^{3} - 7(0)^{2} + 14(0) - 6 = -6$$

$$f(x_{1}) = (1,1)^{3} - 7(1,11)^{2} + 14(1,11) - 6 = 2.233$$

$$f(x_{1}) = (0,1144)^{3} - 7(0,77444)^{2} + 14(0,77444) - 6$$

$$= 0.418 - 703.7374 + 10.416 - 6$$

$$= 0.418 - 703.774 + 10.416 - 6$$

$$= 0.753$$

$$h_{1} = 0.7746 = 1.11 - 0 = 1.11$$

$$h_{2} = x_{2} - x_{1} = 0.77444 - 1.11 = 0.335$$

$$g_{1} = \frac{f(x_{1}) - f(x_{2})}{h_{1}} = \frac{2.233 - (-6)}{1.11} = \frac{3.23}{1.11} = \frac$$

$$2 + 1 \cdot 11 + (-1 \cdot 9 \cdot 06)$$

$$2 + 1 \cdot 11 + (-1 \cdot 9 \cdot 06)$$

$$2 + 1 \cdot 11 + (-1 \cdot 9 \cdot 06)$$

$$3 \cdot 333$$

$$2 + (-3 \cdot 33) + (-1 \cdot 9 \cdot 06)$$

$$3 \cdot 333$$

$$2 + (-3 \cdot 35 \cdot 96) - (-1 \cdot 9 \cdot 06)$$

$$3 \cdot 333$$

$$3 + 2 + (-3 \cdot 53 \cdot 6) + (-1 \cdot 9 \cdot 06)$$

$$3 + (-3 \cdot 33) + (-$$

$$z = \frac{34}{-70} = -12$$
Putting in $y = e^{-42} e^{-34}$ (i)

$$19y + 4(-12) = 8.$$

$$19y + (-4.3) = 8.$$

$$19y = 3 + 4.8 = 12.8.$$

$$4 = \frac{12.8}{19} = 0.673$$
Putting Values of $x, y, 4 = 10.073$
Putting Values of $x, y, 4 = 10.073$
Putting Values of $x, y, 4 = 10.073$

$$2x - (0.673) + 2(-1.2) = 2.$$

$$2x - 3.073 = 2$$

$$2x = 5.073$$

$$x = 5.073$$

$$x = 5.073$$

$$x = 2.536$$

$$y = 0.673 = 2 = -1.2$$